[ Efficiency vs vertpos |
- 0.2

20.18
4
20.16
(8]
§0.14
(&)
£0.12
0.1

0.08F -1
0.06

0.04

0.02F

o R

g I

@ B

1_— -+ -+t P O

o
©
a

107 1

=
2
N

10 0?
TP vertr (cr%)

—=— DQM_V0001_R000000001__Global__mkFit100Timeo_ RECO
Efficiend —— pom_v0001_R000000001__Global__mkFit100Time_ RECO

~n 0.2
LT R R R S

4 E . . . . .
L S S R s SR
> . . : . .

2 E : ;
L S S S
2 F : 3
£0.12F b e
@ F : :

035 SAUSUSRE SO ORI SO RS S
0.08F -+ creeeeib e | g e
0.06F - PR 0 1 Y 111 R S
T e 115 S S S
0,028 -+---beeeeeip- LR

Ratio

[
T
5t

09/ —=20 =10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~n 0.2
>
a 0.18
c o
D 0.16:—
20.14F
& o
c 0.12F
0.1+
0.08F
0.06F

0.04F

efticie

N
TTTT T
T
ik
T

068 6 -4 2 0 2 4 6 8 10
Sim. PV z (cm)




	Contents
	Page 1


